(Y/IAY) and LABJIND -Y contrast (Y/IAY) and CIELAB -Y contrast
(YIAY) I (YIAY),  normalized to (Y/AY), (YIAY) [ (YIAY),  normalized to (Y/AY),
text lightness text lightness
L¥L* = (Wa) {In(L+aY)-In(1+aYy} [al|[ L*=s(Y/¥y)"-d  (Yy=100,Y,=18, s=116, n=1/3, d=16) [1
L¥L* = (Wa) {IN[1+ b (Y/YQ] - In (1+b)} [blf| Lr=r (vv)"-d  (r=s(Yy/Yn)"=65,49,L* = r - d) [1b]
text relative lightness text relative lightness
tristimulus value Y contrast [4c]|[ Y /dY=Y/{[(Yn/(nsS)I(Y/ Yn)lfn} [4c]
text log(L*/L*u) text log(L*/L*u)
(YY) / (YudYu) [l (/Y= Yo LY (n5) 10/ Y ") [4d]
text In(L*/Lu) text In(L*/Lu)
S[Y/(1+aY)]/[Yy/(1+aYy)] [el|[ (v /rdy)yr ey rdyy=(y/vy)" [4e]
text L*/L*u=e**x text L*/L*u=e**x
log [(Y / dY)/ (Y 1 dY))] = (n) log(Y / Yy) [41]
hep21-5a hep21-6a
(Y/IAY) and IECSRGB-Y contrast (Y/IAY) and TUBsRGB-Y contrast
(YIAY) I (YIAY), normalized to (Y/AY), (YIAY) I (YIAY), normalized to (Y/AY),
text lightness text lightness
L*=s(Y/Yy)"-d  (Y4=100,Y,=18, s=100, n=1/2,4, d=0) g L*=s(Y/Y)"-d  (Y4=100,Y,=18, s=100, n=1/In(10), d=0)  [14]
Lo =r (YIY)"=d  (r=s(Yu/Yn)"=48,94,L* ;=1 - d) [b]|| L*=r(YivY)"-d  (r=s(Yy/Yy)"=47,48,L% = r - d) [1b]
text relative lightness text relative lightness
Y 1dY=Y /I {[ (Yl (ns)]CY 7 Y)E "} @ || Yrdy=Yr{peva (ns) 1Y /Yty [4c]
text log(L*/L*u) text log(L*/L*u)
O 1YL= Yo LYl (n8) (Y / Y ™) fadl (| (v /YL =Ye LY () 1(Yu/ Y) "} [4d]
text In(L*/Lu) text In(L*/Lu)
(Y 7dY)/ (Y 1dY), =(Y 1 Y)" [el|[ (v rdy)yr ey rdyy =Y/ vy)" [4e]
text L*/L*u=e**x text L*/L*u=e**x
log [(Y / dY)/ (Y 1 dY)] = (n) log(Y / Yy) 14 || 1og [(Y 7dY)/ (Y 7 dY)] = (n) log(Y / Yy) [4f]

hep21-7a

hep21-8a

hep21-7n



